(6x3 —x? =5x+5)+ (2x—1) 9] & a, YHAE bt & of =
. = ) Eb (\221'.- =
-~ X | ,a+b=

2
®3x+x+1 @ x2+x+1 ® 3x2+1

@ x®+x-1 ® 3x2+x

A o]l 851H a=3x2+x-2,b=3
Ca+b=32+x+1
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2. TR f(x) 8 242 + 3x+ 22 LRI Y Fo] 3x— 4], L 27}
2x -+ 50191ek. o] w, £(1) 9] Zhe?

®-1  @o ® 1 @ 3 ® 5

B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2x2 — Tx + 8) = ZHATHTE Aof|A] x3
o AlE?

O 31 @ 33 ® 35 @ 37 @39

2x3 x 8 = 3x2 x (=7x) + 3x x (—=2x2) + 4 x 2x3 = 39x°
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5. HFA () =4 tax +x b 1& xt o2 U A7} 1Y
] ]

,THHA F ()8 2x 4+ 12 U B 0 (x) & U A] RS F51H?

® Q(x)=2x*-x,R=1 @Q(x):2x2—|—x,R:1
® Qx)=2x-2x,R=1 @Q(x):4x2—2x,R:%
® Q(x)=4x2—|—2x,R:%

B

f(—%>=1=§—i.'.a:4

wabA f(x) =463 +4x2 +x+1
=x(4x®> +4x+1)+1
=x(2x+1)2+1

A+ 12 UFAQ(x) =22+ x, R=1
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(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*

@ e e e e

(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1




7. HEsRAE O go] 36, 2R C17F56 91 A5 A O] Tz o] Zol=?

@ @ 6 ® 7 @ 8 ® 9

A5 7z, Az, Eol& A4 a, b, ¢ 5L
4(a+ b+ c) = 36, 2(ab + bc + ca) = 56
(a+b+c)?=a®+b?+c?+2(ab + be + ca)
a®>+b%+c* =81-56=25
- (A2 Bol) = VEF P T

= V25=5
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8. XPHx+1=020h 2+ 0] ghe?
X

@ 0 @ 1 ©F @ 3 ® 4

B

2 x+1=09A FHE x2 LUFH
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gap ===l
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;s 1 1\? 1 1
Ltz =lx+-) -3x-— | x+ -
X X X

=-1-3-(-1) =2
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9. x+>-=1¢%nuj x0 4 o] k29
X 101
O @-1 -2 @2 ® 101
1 2
x+ =19 +1=x
x
Cxl-x+1=0,x=-1
1
1\ — (43133 . .2
(F4) =0)"-x +(x3)33 2
-1 41 -x+1
__.2 _
Xt ST T T
x—1
= x2 =1




10. Al A+ ab,c7fa+b+c=3, a2 +b>+c*>=9, a®>+b%+c3 =24
S 2D o, ot + b + * + 19 FHS F5HH?

@ 69 @70 ® 71 @ 72 ® 73

B \

atb+c=3---O©

2+’ +c?=9---Q

a®+ b 4¢3 =24..-Q o]zt 514,

@4 A
aA+b*+c2=(a+b+c)?-2(ab+bc+ca)=9
9-2(ab+bc+ca) =9

“ab+bctca=0 ---@

@4l A

a+ b+

= (a+b+c)(a®+b?>+ c?—ab - bc - ca) + 3abc
24 =3 (9-0) + 3abc

“abc=-1 ---®

at+b*+ct+1

= (@® + b® + c?)? - 2(a®b® + b2 + ?a®) + 1
=81-2-64+1=170

(o a®® + b2 + 2a?

= (ab + bc + ca)? — 2abc(a + b + ¢)
=0-2x(-1)x3

= 6)




